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= ohabA] A, Bol ik A +3B = 2x2 —Tx—1, B—A = 2x2 ~5x -7
Ao, A+ B=?

©—x+3 @ x-3 ® x¥+x+3

A= RO =SB B = B =D
A+B=(—x*+2x+5)+ (x*-3x-2)=-x+3

A+3B=2x2-7x-1
B-A=2x2-5x-17
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@ (ax-2)+ (7-2x) = 2x-5
(6% +2y%) =20 = 3x%) = 7a°
® (x+y)* =x"+ 3% + 307 +y°
@ (x+y+2)? =22+ +2° + 20y + 2z + 2

® (FP+1)+(x+1)=x-x+1

O (4x-2)+(7T-2x)=2x+5
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® 10 @ 13 ® 16 @19 ® 25
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(5x% + 3x + 1)(5x% + 3x + 1) A
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7. b Aol xof R G50l HES A B 2 YT W, A+ B
e Fapoler.

4x-6=A(x+1)-B(x-1)

MolB & x9f ghofl TAIglo] /4 -t
mEhA] x = —1-& SO tYoHH,

4% (-1)-6=A(-1+1) - B(-1-1)

~10=2B - B=-5

T, x =13 el tidstd,
4x1-6=A(1+1)-B(1-1)

2=24 . A=-1

"~ A=-1, B=-5

"~ A+B=-6
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=
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® x(a-b) @ (a-b)(x~-y)
@ a-b)x+y) O (a+b)(x+y)
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-3=-b b=3
FHof x =2E tUstHA
0=2c ..c=0
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@a—b ® c-b+a

a® — b2c — ab® + a’c = a® — ab® + a’c - b*c
=a(a® - b*) + (a®> - b*)c
=(a-b)(a+b)(a+c)




21. (a-b+c)(a+b-c)E AN A2

@® a*+b*+ c* - 2bc @ a* - b+ c? - 2bc
@aQ—b2—62+2bc @ a® +b* - c* = 2bc

® a®+b*+ 2 + 2be
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(a=b+c)(a+b-c)
=f{a-(b-c)la+ (b-c))
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o) 4] Sme
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24.

xof gt ohatA] x% +ax +bx+2 5
x+3°] HEE

> E:

> HE: ab= -6

a, b O #= AL W, ab TS T

¥ —x+ 12 the vejx7h
Fstelet.

~&B

ANAE A

3188 Aot
a=-2,b=3
ab = —6

Pt +hrt2=(F-x+1) A+ (x+3)

A= (x+p)
P ta +bx+2-(x+3)=(*-x+1)(x+p)
Brad+bh-Dx—-1=(EP-x+1)x-1) ~p=-




25. P=(2+1)(22+1)(2*+1)(22 +1)(2' 4+ 1) 9] ZF& F5HH?

@232—1 @ 23241 ® 231 -1
@ 2°1+1 ® 217-1

~&B

Fold Aol (2-1)
P=(2-1)(2+1)(2*

=(22-1)(22+1)(24
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=12 5= A AHstER
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26. (@ -x?-2x+1)° =ag +ar(x—1)+ax(x=1)* + - +ars(x - 1)
AW, ap+az +as + -+ a14 & F= Fotofet
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ofo] x = 02 HfsHH
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ool x = 2E HYUSHH

l=ay+ar+ax+--+ai; ---©
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Tagtas+--rau=1




27. T ZF - 4x3 - 7x? 4 34x - 24 5 Q1B 1S o,
289

@ x-1 @ x-2 ® x+3 @x+4

~&B

flx) = x* —4x® — 7x% + 34x — 242} 51H
71 = £(2) = 00122

f(x) Ex-1,x-25 5= ZE=rth
ZHARS of HH =,

xt—4x® —7x® + 34x - 24
=(x-1)(x-2)(x*-x-12)
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-t a2-1 (x* +1)(x®-1)
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29. 22 +xy— > +10x+ 4y + 125 x, vy F €22 9] HFo g 9l
SHSHH, (x+ay +b)(2x +cy +d) 7t HFL & 1), 0 +
%l°‘7(L,a b, ¢, d =)

@ 6 @7  ©)s @ 9 ® 10

B ~
2x% + xy —y? + 10x + 4y + 12 (« x°f Tsto] F2)

=2x2+ (y+10)x— (y? -4y - 12)

=2x2+ (y+10)x— (y + 2)(y — 6)

= {x+ (y +2)H{2x - (y - 6)}

=(x+y+2)(2x-y+6)

“a=1,b=2c=-1,d=6

“a+b+c+d=38
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M7 Al ®1e] Aol a, b, coll 5t (a+b-c)(a—
b(b+2c)+ (c+a)(c—a)7t AHL ), o] AZF2 ojH
7

@a7a73 @ ol5HAAE O AAnd
GIE BRI ® =77
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(a+b-c)la=b+c)
=b(b+2¢) + (c +a)(c—a) A

la+ (b-c)lfa— (b—c)} = b* + 2bc + ¢* - a?
a? — b+ 2bc — ¢* = —a® + b* + ¢ + 2bc
2a® = 2b? + 2¢2

Ca?=p% 42

wetA, o] 471 WHe] hol7t a2l A7




L. x4yt = (6% = 20y + 2) (6% + 2xy + 29°) = ©]-850] Tha 49

(11% + 324)(23* + 324)(35% 4 324)(47* + 324)
(54 + 324) (174 + 324)(29% + 324)(414 + 324)

@ 192 @193 ® 194 @ 195 ® 196

B

x4yt = (6 = 2xy + 2y%) (2% + 2xy + 2y?)

={(x=y)2+y H(x+y)? +y} ol

324 =4x3%0|B2&2

117 +324 = (112 -2Xx 11x342x3%)(11%2 +2Xx 11 X 3+ 2% 3%)
= {(11 - 3)% 4 32}{(11 + 3)% + 32}

= (82 +32)(142 + 3?%)

mebA 22 B Ao HH Fo]7] A2

{(8% + 3%)(142 + 32)}{(202 + 32)(262 + 32)}

{(22 + 32)(82 + 32)}{(142 + 32)(202 + 32)}

{(322 + 32)(382 + 32)}{(442 + 32)(502 + 32)}

{(262 + 32)(322 + 32)}{(382 + 32)(442 + 32))

502 +3%2 2509

T 92132~ 13
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32. A% a, b, col Wt [a, b, ¢] = a® + bee} S} x +y +z = 10,
¥ 4y?+ 2 =129, [x, 2y, 2] + [y, 22, x|+ [z 2x, y] & 27

@ 10 @ 22 ® 88 (@)100 ® 144

~&B ~

[x, 2y, z] + [y, 2z, x| + [z, 2x, Y]
=x?+2yz+y* + 2zx + 2% 4 2xy
=x? +y% + 2% + 2xy + 2yz + 2zx
= (x+y+2)? =100




